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e Please check that this question paper contains 7 printed pages.

¢ Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e  Please check that this question paper contains 12 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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Instructions :
(i) Attempt any ten questions.
Gy All questions are equal marks.
1. &) sﬁagﬁq\&wﬁamﬁgﬁqmsﬁﬁ SISO STE giY B A B
27
(@) it g %Wﬁﬁﬁ%ﬁmmﬁaﬁﬁwﬁaﬁm:
“rfirem o i Gl R R g
() ﬁmﬁq’i@ﬁﬁﬁa@ﬁq—mw%ﬁwﬁ%aﬂﬁ%wﬁqaﬁ
firg @ aen fore TR ?
(a) What are the respective sources of vision in an electron microscope
and a compound microscope ?
(b)  Fill in the two blanks in the following statement pertaining to cell
theory :
“Cell is the and unit of life.”
(¢)  Which one of the following is a mismatch with the remaining two
according to functional categories and how ?
Pepsin, Insulin, Amylase
2. (%) :ﬁsﬁz@@%ﬁ%ﬁ%?wmaﬁmﬁm@ﬁmaﬁa@?ﬁq
SR Teh! A e | ;
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(a)  What is a nucleotide ? Name the three basic components of a single
nucleotide, ‘

(b)  Describe the very first step in the replication of DNA.

() - Name and state the first law of inheritance as proposed by Gregor
Mendel.

() “wriam e’ 58 #ad 8 2
(@) SUF A W, §& T (SIGH T1 3re@n w%e) % fwg # dedt g frw

M A9 I ST W OF, i 121 % U I T T |

T S 1 Ui ST | 3
(a}  What is “Crossing Over” ?

(b)  In one of his breeding experiments on garden pea regarding flower
colour (purple or white), Mendel obtained the F, generation in the
ratio 1: 2 : 1. Describe the ratio obtained.

Frfafaa waet § s woHl =1 i 3
()  TNA (IUREdA) UF WEEl UNEET g1 & o U o atfre
oA o) e oiyer S Y g R
(i) Wi (Tgh) faumm &1 qataeen % oy § Bl 3t
T 1 S q % I ¥ TIF THEE B WM 8 |

(i) IR B o1 998 s B ifEEeT § 9 S @
T HifrR-fif % e grn s ST 4 BT 8 |

Fill in the blanks in the following statements :

() Mutation is a sudden change in one or more , or in the

number or in the structure of

(ii) At the start of mitotic prophase the become short and
thick and are clearly visible inside the

(iii)) Cell membrane is outermost in. cells and it lies next to cell
wall in cells.
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(a) Name the cell organelle other than the nucleus which contains

DNA, and state its overall function in human body.
(b)  What are the functions of the codons AUG and UAG respectively ?

(¢) State the two overall functions of endoplasmic reticulum.

- =fiei & g S A @ Ts § g -l tus Sw e S Iw @
g oo & @t 37 = 2

(i)  varfeesm, siftte-firfa, dfeden
(i)  IRRifeEd, THeE, e
(iii) GTgeEA, oA, gl

Which one in each of the following sets of three items does not match
with the other two, and why ?

(1) Plastids, Cell wall, Centrioles
(ii)  Thyroxine, Amylase, Glucagon

(iii)  Cytosine, Thymine, Cistron
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(@) How many genes control the human skin colour ? Using the

English alphabets, write the genotypes of this trait in a medium-
coloured human,

(b)  Name the kinds of blood group that can be safely donated to an AB
recipient.

() What is “Gene pool” ?

Wﬁm%qlmﬁﬁmam%ﬂaﬁﬁﬁmﬁ%ﬁaaﬁﬁqam
ST S TH-Teh JeTEw A | 3

Define fertilization. Differentiate between external fertilization and
internal fertilization giving one example of each.

Pt % forwa # wga wa & wweren 5
» g

(i)  FERITET § wgme e

(i) +f5 % gl % forw 7% vigpaii & wraterss 3w

Explain the following very briefly : .

(1) Callus

(ii) . Conjugation tube in Spirogyra

(iii) Functional utility of cones to the pine trees

ﬁmf%rﬁaaéaﬁwﬁﬁmm%aﬁwﬂm%,m: 3
@) m<m>-m@wwm%mﬁmw
(i) W-W%ﬁmmmsﬁﬁmwﬁmmﬁww

(i) 77 - TET IFTAL qoT IToh 61 Soft
5 , P.T.O.
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State the following as asked against each :

(1)

(i)

Tuberculosis — the category of pathogen and the particular vaccine
for prevention

Rabies — mode of infection and the treatment if chance of infection

(ii1) Ringworm — main symptoms and the category of pathogen
i % g 3 frefefan % fvr § R .

(W) 3 et 5 g 3 e sreq e &

(i) a5t e F 3 Rrw e S 23§

Gif) = 98 ¥ Y0 B T 2 sy

Describe the following pertaining to forests -

(i)
(ii)
(iii)

(%)

(@)

Any two ways how they prevent soil erosion
How they contribute in bringing rains

Any two drugs obtained from forest trees

ﬁm%fﬁgaﬁﬁﬁmmaaﬁwﬁxﬁwﬁw%ﬁﬁaﬁﬁ%? 39 goft
=1 g ferfaw | '

ﬁ%@mq&mﬁmaﬁﬁmﬁﬂﬁ%sﬁm%ﬂﬂm@?ﬁ%,aﬁt
mﬁﬂqﬁ%@m(?,?,?)ﬁnwélwmgqﬁﬂ@qﬁaﬁm
forfm |

() —— —(2)~ +2C0, + 2ATP

() O
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(a)

(b)

Which two of the following belong to the same common category of
medicines ? Define the category.

Streptomycin, Morphine, Ampicillin

Given below is an incomplete chemical reaction with three blanks
(?,7,7), as it occurs in yeast. Rewrite the complete equation.

_(:)_ _— —-(:}—+2002+2ATP
(Glucose) (—@—)
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